Indian Population Graph Information and Questions:

The population in 1860 was approximately 50,000
The population in 1870 was approximately 20,000
The population in 1880 was approximately 100,000
The population in 1890 was approximately 250,000
The population in 1900 was approximately 200,000
The population in 1910 was approximately 265,000
The population in 1920 was approximately 200,000
The population in 1930 was approximately 330,000
The population in 1940 was approximately 310,000
10 The population in 1950 was approximately 340,000
11.The population in 1960 was approximately 541,000
12.The population in 1970 was approximately 800,000
13.The population in 1980 was approximately 1,400,000
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Place figures on graph and color in making a bar graph. Then
answer the following questions:

1. What years actually showed a decline in population?
2. When did 1860's population double?

3. How many more Indians existed in 1980 than 18607?
Than 19707
Than 19307

4. How much population decline did Indians experience in 19007?
In 19207
In 19407

5. When did the population reach 500,000?
100,0007?
800,0007?

6. What do you think some of the reasons might have been for the
population decline periods?



